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Exercise

1. What is the basic theme of organisation in the periodic

table?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_gT8i2bc4yqlW

2. Which important property did Mendeleev use to classify

the elements in his periodic table and did he stick to that?

° Watch Video Solution

3. What is the basic difference in approach between the

MendeleeV’s Periodic Law and the Modern Periodic Law?

o Watch Video Solution

4. On the basis of quantum number, which period of the

periodic table should have 32 elements.

° Watch Video Solution



https://dl.doubtnut.com/l/_y84F9Ma0rOTs
https://dl.doubtnut.com/l/_PJRjyqHQNEw5
https://dl.doubtnut.com/l/_2HSSnwguixPb
https://dl.doubtnut.com/l/_1frHjDW7gTes

5.1In terms of period and group where would you locate the

element with Z =114?

o Watch Video Solution

6. Write the atomic number of the element present in the

third period and seventeenth group of the periodic table.

° Watch Video Solution

7.Which element do you think would have been named by
(i) Lawrence Berkeley Laboratory

(ii) Seaborg’s group?

o Watch Video Solution



https://dl.doubtnut.com/l/_1frHjDW7gTes
https://dl.doubtnut.com/l/_2y3X6KXMPDuV
https://dl.doubtnut.com/l/_Uh0pHTzGFkaH

8. Why do elements in the same group have similar physical

and chemical properties?

° Watch Video Solution

9. What does atomic radius and ionic radius really mean to

you?

o Watch Video Solution

10. How do atomic radius vary in a period and in a group?

How do you explain the variation?

° Watch Video Solution



https://dl.doubtnut.com/l/_GTQ6JAbr9RY4
https://dl.doubtnut.com/l/_iNaEeJWkBMPk
https://dl.doubtnut.com/l/_FYIYqgXuqRqc
https://dl.doubtnut.com/l/_MDpz5EHDzqBG

11. What do you understand by isoelectronic species? Name
a species that will be isoelectronic with each of the

following atoms or ions.

(i) F~ (ii) Ar (iii) Mg®™* (iv) Rb™

o Watch Video Solution

12. Consider the following species
N3~ 0> ,F ,Na',Mg*" and AR
(a) What is common in them?

(b) Arrange them in the order of increasing ionic radii.

o Watch Video Solution



https://dl.doubtnut.com/l/_MDpz5EHDzqBG
https://dl.doubtnut.com/l/_g5W6HynQXHJj

13. Explain why cation are smaller and anions larger in radii

than their parent atoms?

° Watch Video Solution

14. What is the significance of the terms — ‘isolated gaseous
atom’ and ‘ground state’ while defining the ionization
enthalpy and electron gain enthalpy?

Hint : Requirements for comparison purposes.

o Watch Video Solution

15. Energy of an electron in the ground state of the

hydrogen atom is —2.18 x 10( — 18)J. Calculate the


https://dl.doubtnut.com/l/_Axj5NOr16Phn
https://dl.doubtnut.com/l/_FVptETxCfPJY
https://dl.doubtnut.com/l/_1pmWH0tOpVUJ

ionization enthalpy of atomic hydrogen in terms of  mol ~ ..

Hint: Apply the idea of mole concept to derive the answer.

° Watch Video Solution

16. Among the second period elements the actual ionization
enthalpies are in the order
Li<B<Be<(C<O<N<F < Ne.

Explain why

(i) Be has higher Ai H than B

(ii) O has lower Ai H than N and F?

° Watch Video Solution



https://dl.doubtnut.com/l/_1pmWH0tOpVUJ
https://dl.doubtnut.com/l/_yYbvR2hABZF4

17. How would you explain the fact that the first ionsiation
enthalpy of sodium is lower than that of magnesium but its
second ionisation enthalpy is higher than that of

magnesium?

o Watch Video Solution

18. What are the various factors due to which the ionization
enthalpy of the main group elements tends to decrease

down a group?

° Watch Video Solution



https://dl.doubtnut.com/l/_fyrDO1x4iTGM
https://dl.doubtnut.com/l/_zmfCs1rOlB3L

19. The first ionization enthalpy values (in kJ mol_l) of

group 13 elements are :

B Al Ga In TI
801 577 579 558 589

How would you explain this deviation from the general

trend ?

o Watch Video Solution

20. Which of the following pairs of elements would have a
more negative electron gain enthalpy?

(i) O or F (ii) For Cl

° Watch Video Solution



https://dl.doubtnut.com/l/_rKoyhILV6E2V
https://dl.doubtnut.com/l/_UYOasww2GdlG

21. Would you expect the second electron gain enthalpy of O
as positive , more negative or less negative than the first?

Justify your answer.

o Watch Video Solution

22. What is the basic difference between the terms electron

gain enthalpy and electronegativity?

O Watch Video Solution

23. How would you react to the statement that the
electronegativity of N on Pauling scale is 3.0 in all the

nitrogen compounds?

S 000 ]


https://dl.doubtnut.com/l/_j2ZByJes8jXe
https://dl.doubtnut.com/l/_TPMKrgRTYeDc
https://dl.doubtnut.com/l/_uNwTu45IKD1x

[ W Watch Video Solution ]

24. Describe the theory associated with the radius of an
atomas it

gains an electron

° Watch Video Solution

25. Would you expect the first ionization enthalpies for two
isotopes of the same element to be the same or different?

Justify your answer.

° Watch Video Solution



https://dl.doubtnut.com/l/_uNwTu45IKD1x
https://dl.doubtnut.com/l/_cLG22xO50HX3
https://dl.doubtnut.com/l/_LfWno7QCreOC

26. What are the major differences between metals and non-

metals?

° Watch Video Solution

27. Use the periodic table to answer the following questions.
(@) Identify an element with five electrons in the outer
subshell.
(b) Identify an element that would tend to lose two
electrons.
(c) Identify an element that would tend to gain two
electrons.
(d) Identify the group having metal, non-metal, liquid as well

as gas at the room temperature.

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_hpydcq4XYO3S
https://dl.doubtnut.com/l/_rzBseLT0VH8z

28. The increasing order of reactivity among group 1
elements is Li < Na < K < Rb < Cs whereas that

among group 17 elements is F' > CI > Br > I. Explain.

o Watch Video Solution

29. Write the general outer electronic configuration of s-, p-,

d- and f- block elements.

o Watch Video Solution

30. Assign the position of the element having outer

electronic configuration (i) ns?np* for n=3 (ii) (n — 1)d2ns2


https://dl.doubtnut.com/l/_rzBseLT0VH8z
https://dl.doubtnut.com/l/_uvlNsCmcNhzh
https://dl.doubtnut.com/l/_2yUP4DqJJVgP
https://dl.doubtnut.com/l/_nr0L3Jq06B6I

for n=4, and (iii) (n —2)f"(n — 1)d'ns® for n=6, in the

periodic table.

° Watch Video Solution

31. The first (AiH1) and the second (AiH2) ionization
enthalpies (in kJ mol_l) and the (AegH) electron gain

enthalpy (in kJ mol_l) of a few elements are given below:

Elements AH1 AH2 A, ,H

I 520 7300 -60
I1I 419 3051 —48
11T 1681 3374 —328
v 1008 1846 —295
|4 2372 5251 448
VI 738 1451 -40

Which of the above elements is likely to be : (a) the least
reactive element.
(b) the most reactive metal.

(c) the most reactive non-metal.


https://dl.doubtnut.com/l/_nr0L3Jq06B6I
https://dl.doubtnut.com/l/_KiijGKkwM3VW

(d) the least reactive non-metal.

(e) the metal which can form a stable binary halide of the
formula M X5(X=halogen).

(f) the metal which can form a predominantly stable

covalent halide of the formula MX (X=halogen)?

o Watch Video Solution

32. Predict the formula of the binary compounds formed by
combination of the following pairs of elements:

(i)Magnesium and nitrogen(ii)Silicon and oxygen

° Watch Video Solution



https://dl.doubtnut.com/l/_KiijGKkwM3VW
https://dl.doubtnut.com/l/_T98AV7Wkblqh

33. In the modern periodic table, the period indicates the

value of :

° Watch Video Solution

34. Which of the following statements related to the

modern periodic table is incorrect?

o Watch Video Solution

35. Anything that influences the valence electrons will affect
the chemistry of the element. Which one of the following

factors does not affect the valence shell?

o Watch Video Solution



https://dl.doubtnut.com/l/_jM4Gdc3Ivdp3
https://dl.doubtnut.com/l/_Nm84SM4a6VBa
https://dl.doubtnut.com/l/_t8fDQyOLkdAL

36. The size of isoelectronic species —F' ~, Ne and Na™ is

affected by

° Watch Video Solution

37. Which one of the following statements is incorrect in

relation to ionization enthalpy?

° Watch Video Solution

38. Considering the elements B, Al, Mg, and K, the correct

order of their metallic character is :

o Watch Video Solution



https://dl.doubtnut.com/l/_t8fDQyOLkdAL
https://dl.doubtnut.com/l/_abN441Lf5i37
https://dl.doubtnut.com/l/_W6w9zVAJcp0k
https://dl.doubtnut.com/l/_Mkwu1RdX8diq

39. Considering the elements B, C, N, F, and Si, the correct

order of their non-metallic character is :

° Watch Video Solution

40. Considering the elements F, Cl, O and N, the correct
order of their chemical reactivity in terms of oxidizing

property is :

° Watch Video Solution

41. Explain the formation of a chemical bond.

° Watch Video Solution



https://dl.doubtnut.com/l/_v6DOqaPnl32S
https://dl.doubtnut.com/l/_dKc7a3NKPhuU
https://dl.doubtnut.com/l/_xK314lzfzhIG
https://dl.doubtnut.com/l/_cqGiVieQBB7z

42. Write Lewis dot symbols for atoms of the following
elements:

Mg, Na, B, O, N, Br.

° Watch Video Solution

43. Write Lewis symbols for the following atoms and ions : S

and S27, Al and AP®" .Hand H ~.

° Watch Video Solution

44. Draw the Lewis structures for the following molecules

and ions :

H,S, SiCly, BeF,, CO;~ , HCOOH

| o Watch Video Solution


https://dl.doubtnut.com/l/_cqGiVieQBB7z
https://dl.doubtnut.com/l/_MmYotqczfwsM
https://dl.doubtnut.com/l/_H1XuuoNdIFrC

45. Define octet rule . Write its significance and limitations .

o Watch Video Solution

46. Write the favourable factors for the formation of ionic

bond .

° Watch Video Solution

47. Discuss the shape of the following molecules using the

VSEPR model : BeCl,, BCl3

° Watch Video Solution



https://dl.doubtnut.com/l/_H1XuuoNdIFrC
https://dl.doubtnut.com/l/_mbucoKmVsEJB
https://dl.doubtnut.com/l/_neA0AaUP2nEZ
https://dl.doubtnut.com/l/_GJoERnsXCuR0
https://dl.doubtnut.com/l/_xaq1wiC8WPdl

48. Although geometries of NH3 and H;O molecules are
distorted tetrahedral, bond angle in water is less than that

of ammonia. Discuss.

° Watch Video Solution

49. How do you express the bond length in terms of bond

order?

o Watch Video Solution

50. Define the bond length.

° Watch Video Solution



https://dl.doubtnut.com/l/_xaq1wiC8WPdl
https://dl.doubtnut.com/l/_0N5YDH22wMXy
https://dl.doubtnut.com/l/_SJUl12V9C2Qv
https://dl.doubtnut.com/l/_S9XnEqFILQCs

51. Explain the structure of C’Og_ ion in terms of resonance

° Watch Video Solution

52. H3PO3 can be represented by structure (a) and (b)
shown below. Can these two structures be taken as the
canonical forms of the resonance hybrid representing

H3POs ?If not, give reasons for the same.

H
H OPO H H ()P() H
HOK HOE .

H
(a) (b)

o Watch Video Solution



https://dl.doubtnut.com/l/_S9XnEqFILQCs
https://dl.doubtnut.com/l/_V2SpnKBqlltY
https://dl.doubtnut.com/l/_62fak74n55Yu

53. Write the resonance structures for SO3 and NO,

° Watch Video Solution

54. Use Lewis symbols to show electron transfer between

the following atoms to form cations and anions: (a) K and

O and (b) Al and N.

° Watch Video Solution

55. Although both COy and H>O are triatomic molecules,
the shape of HyO molecule is bent while that of CO, is

linear. Explain this on the basis of dipole moment.

o Watch Video Solution



https://dl.doubtnut.com/l/_62fak74n55Yu
https://dl.doubtnut.com/l/_PXlJLWtxi7Ka
https://dl.doubtnut.com/l/_LpbCgVcbPCGC

56. a) Discuss the significance/applications of dipole
moment.

b) Represent diagrammatically the bond moments and the

resultant dipole moment in COy, NF3 and CHCl5

o Watch Video Solution

57. ELECTRON GAIN ENTHALPY OF GROUP 17

° Watch Video Solution

58. Explain with the help of suitable example polar covalent

bond.

o Watch Video Solution



https://dl.doubtnut.com/l/_QxSujNP0Own2
https://dl.doubtnut.com/l/_S9n5VuqrSI1z
https://dl.doubtnut.com/l/_4yJcBMW5Xwl0

59. Arrange the following in order of decreasing ionic
character.

a.ClF;, SOy, Ny, K50 and LiF

b.Cl] —-H,F— H,Br — H,Na— 1, K — FandLi— Cl

C. AlF3, AlClg, AlB'r'g

o Watch Video Solution

60. The skeletal structure of CH3COOH as shown below is

correct, but some of the bonds are shown incorrectly. Write


https://dl.doubtnut.com/l/_4yJcBMW5Xwl0
https://dl.doubtnut.com/l/_BowtgzclUyJR
https://dl.doubtnut.com/l/_tDsl8IFN520Q

the correct Lewis structure for acetic acid.

:0):

H

L
H=C— ¢ Qb

|

H

o Watch Video Solution

61. Apart from tetrahedral geometry, another possible
geometry for CHy is square planar with the four H atoms at
the corners of the square and the C atom at its centre.

Explain why C Hy is not square planar ?

° Watch Video Solution



https://dl.doubtnut.com/l/_tDsl8IFN520Q
https://dl.doubtnut.com/l/_rmUFJ3mBQBBw

62. Explain why BeH; molecule has a zero dipole moment

although the Be-H bonds are polar.

° Watch Video Solution

63. What is the correct dipole moment of NH; and NFj3

respectively ?

o Watch Video Solution

64. What is meant by hybridisation of atomic orbitals?

Describe the shapes of sp, sp2, sp3 hybrid orbitals.

° Watch Video Solution



https://dl.doubtnut.com/l/_LXEyS1goYrai
https://dl.doubtnut.com/l/_rh3G39BjmuzG
https://dl.doubtnut.com/l/_uWTR1pgKh7lI
https://dl.doubtnut.com/l/_9FAQ5F4gcCEZ

65. Describe the change in hybridisation (if any) of the Al
atom in the following reaction.

AlCl; + Cl~ — AICI;

o Watch Video Solution

66. Is there any change in the hybridisation of B and N
atoms as a result of the following reaction?

BF3 + NH3 — F3B NH3

° Watch Video Solution

67. Draw diagrams showing the formation of a double bond
and a triple bond between C atoms in CyH, and CyH,

molecules?


https://dl.doubtnut.com/l/_9FAQ5F4gcCEZ
https://dl.doubtnut.com/l/_FFo9up8JjWgo
https://dl.doubtnut.com/l/_5cwQxoJ0QepH

° Watch Video Solution

68. What is the total number of sigma and pi bonds in the
following molecules?

CoH,

° Watch Video Solution

69. Considering x-axis as the internuclear axis which out of
the following will not form a sigma bond and why? (a) 1s and

1s (b) 1s and 2p,, (c) 2p, and 2p, (d) 1s and 2s.

° Watch Video Solution



https://dl.doubtnut.com/l/_5cwQxoJ0QepH
https://dl.doubtnut.com/l/_mV2rFLQQ0ZDy
https://dl.doubtnut.com/l/_7009yC9WVMvh

70. Which hybrid orbitals are used by carbon atoms in the
following molecules?
CHs;-CH;, (b) CH3—-CH = CH,, (c) CH3; — CH, — OH,

(d)CH; — CHO (e) CH;COOH

o Watch Video Solution

71. What do you understand by bond pairs and lone pairs of

electrons? lllustrate by giving one exmaple of each type.

o Watch Video Solution

72. Give two differences between a sigma bond and a pi

bond.* *

S 000 ]


https://dl.doubtnut.com/l/_XOeQsSlm9mvF
https://dl.doubtnut.com/l/_qV7CSCg7KU3S
https://dl.doubtnut.com/l/_EsUNajp9RKMA

[ W Watch Video Solution ]

73. Discuss the formation of H2 molecule on the basis of

Valence-bond theory.

o Watch Video Solution

74. Write the important conditions required for the linear

combination of atomic orbitals to form molecular orbitals.

° Watch Video Solution

75. Use molecular orbital theory to explain why the Be,

molecule does not exist.

| o Watch Video Solution


https://dl.doubtnut.com/l/_EsUNajp9RKMA
https://dl.doubtnut.com/l/_9gzTwa1yFA98
https://dl.doubtnut.com/l/_bNI2xcmqnD7i
https://dl.doubtnut.com/l/_QAsURu8U5dSk

76. Compare the relative stability of the following species
and indicate their magnetic properties :

0O,, O;, O, (susperoxide ), Og_ (peroxide )

o Watch Video Solution

77. Write the significance of plus and minus sign shown in

representing the orbitals.

o Watch Video Solution

78. Describe the hybridisation in case of PCI5. Why are the

axial bonds longer as compared to equatorial bonds?



https://dl.doubtnut.com/l/_QAsURu8U5dSk
https://dl.doubtnut.com/l/_It3iBiyZaHVx
https://dl.doubtnut.com/l/_PdbZwVjV8JkM
https://dl.doubtnut.com/l/_KkfVtUfGfx4T

o Watch Video Solution

79. Define hydrogen bond. Is it weaker or stronger than the

van der Waals' forces?

o Watch Video Solution

80. What is meant by the term bond order? Calculate the

bond order of Ny, Oy, O, and Oy

° Watch Video Solution

81. COMPARISON of IE of ALKALI METALS

° Watch Video Solution



https://dl.doubtnut.com/l/_KkfVtUfGfx4T
https://dl.doubtnut.com/l/_sPZMgKuK2iy4
https://dl.doubtnut.com/l/_VZbE68DaTyxD
https://dl.doubtnut.com/l/_csmJCmxLjEF5

82. Write the names of isotopes of hydrogen. What is the

mass ratio of these isotopes?

° Watch Video Solution

83. Why does hydrogen occur in a diatomic form rather than

in @ monoatomic form under normal conditions?

° Watch Video Solution

84. How can the production of dihydrogen, obtained from

‘coal gasification’, be increased?

° Watch Video Solution



https://dl.doubtnut.com/l/_csmJCmxLjEF5
https://dl.doubtnut.com/l/_zjPnMmDSCX7c
https://dl.doubtnut.com/l/_noalCMYHu20p
https://dl.doubtnut.com/l/_gFtPVYahONi7

85. Describe the bulk preparation of dihydrogen by
electrolytic method. What is the role of an electrolyte in this

process ?

o Watch Video Solution

86. Complete the following reactions:
, A
(1)Haz(g) + MyuO,(s) —>

(i1)CO, + Hy(g) ——>

Catalyst

.. A
(#4i)C3Hg(g) + 3H,0(g9) ——
Catalyst
heat

Zn(s) + NaOH(aq) —

° Watch Video Solution



https://dl.doubtnut.com/l/_2H625Ew97mcT
https://dl.doubtnut.com/l/_1BUFlZQnGCXY

87. Discuss the consequences of high enthalpy of H-H bond

in terms of chemical reactivity of dihydrogen

o Watch Video Solution

88. What do you understand by (i) electron-deficient, (ii)
electron-precise, and (iii) electron-rich compounds of

hydrogen? Provide justification with suitable examples.

O Watch Video Solution

89. What characteristics do you expect from an electron-
deficient hydride with respect to its structure and chemical

reactions?

| &


https://dl.doubtnut.com/l/_9TyuOTW6jwUK
https://dl.doubtnut.com/l/_mqLUhvYZvhKF
https://dl.doubtnut.com/l/_oWtkxSNFLteO

[ W Watch Video Solution ]

90. Carbon hydrides of the type, C,,Hs, .5 do not act as
Lewis acid or Lewis base. They behave as normal covalent

hydrides bacause

° Watch Video Solution

91. What do you understand by the term 'non-stoichiometric
hydrides' ? Do you expect this type of hydrides to be formed

by alkali metals'? Justify your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_oWtkxSNFLteO
https://dl.doubtnut.com/l/_vkz6iZ0DuNot
https://dl.doubtnut.com/l/_sOLhZto5iEyb

92. How do you expect the metallic hydrides to be useful for

hydrogen storage? Explain.

° Watch Video Solution

93. How does the atomic hydrogen or oxy-hydrogen torch

function for cutting and welding purposes ? Explain.

o Watch Video Solution

94. Among NHj;, H,O, HF and H,S which would have

highest magnitude of hydrogen bonding ?

° Watch Video Solution



https://dl.doubtnut.com/l/_YwZ1ezzU1cyg
https://dl.doubtnut.com/l/_h5NHXoOwtl2u
https://dl.doubtnut.com/l/_Npt04r1JpK7z
https://dl.doubtnut.com/l/_wQl6PL9dYfIx

95. Saline hydrides are known to react with water violently
producing fire. Can C'O,, a well known fire extinguisher, be

used in this case? Explain.

° Watch Video Solution

96. Arrange the following

a.CaH,, BeHyand TiH, in order of increasing electrical
conductance.

b. LiH, NaH and CsH in order of increasing ionic
character.

¢ H—-H,D — D and F — F' in order of increasing bond
dissociaton enthalpy.

d. NaH, MgH> and H50 in order of increasing reducing

property.



https://dl.doubtnut.com/l/_wQl6PL9dYfIx
https://dl.doubtnut.com/l/_ewdXw3gSd9aA

| ) Watch Video Solution I

97. Compare the structures of H,O and H50-.

o Watch Video Solution

98. What do you understand by the term ’auto-protolysis’ of

water? What is its significance?

° Watch Video Solution

99. Consider the reaction of water with F, and suggest, in
terms of oxidation and reduction, which species are

oxidised/reduced.

.Y l


https://dl.doubtnut.com/l/_ewdXw3gSd9aA
https://dl.doubtnut.com/l/_9BlawMABNay3
https://dl.doubtnut.com/l/_acCY3In77qL4
https://dl.doubtnut.com/l/_7udgDXIS8C0G

| ¥ Vvvatcn vVideo ooiution ]

100. Complete the following chemical reactions.

(4)PbS(s) + HyO5(aq) —

(i) MnO, (aq) + Hy05(aq) —

(4i3)CaO(s) + Hy0(g) —

(iv) AlCl3(g) + H,O(1) —

(v)CasNs(s) + HyO(1) —

Classify the above into (a) hydrolysis, (b) redox and (c)

hdydration reactions.

° Watch Video Solution

101. Describe the structure of the common form of ice.

° Watch Video Solution



https://dl.doubtnut.com/l/_7udgDXIS8C0G
https://dl.doubtnut.com/l/_HdE1wdKyzgv2
https://dl.doubtnut.com/l/_Oglc0UENMOI1

102. What are the causes for

Permanent hardness

o Watch Video Solution

103. Discuss the principle and method of softening of hard

water by synthetic ion- exchange resins.

° Watch Video Solution

104. Write chemical reactions to justify that hydrogen
peroxide can function as an oxidising as well as reducing

agent.

| o VAT _ L vl . e~ ]


https://dl.doubtnut.com/l/_Oglc0UENMOI1
https://dl.doubtnut.com/l/_lqoSfcvvC3VH
https://dl.doubtnut.com/l/_hbZrygGGkZGz
https://dl.doubtnut.com/l/_CeUsne5lMINu

L T vvallill viUcCoO o0IuUtLioll ) )

105. Write chemical reactions to justify that hydrogen
peroxide can function as an oxidising as well as reducing

agent.

° Watch Video Solution

106. What is meant by demineralised water?

° Watch Video Solution

107. Is demineralised or distilled water useful for drinking

purposes? If not, how can it be made useful?

° Watch Video Solution



https://dl.doubtnut.com/l/_CeUsne5lMINu
https://dl.doubtnut.com/l/_mghB7qSDBUic
https://dl.doubtnut.com/l/_3b1IWaop9NY3
https://dl.doubtnut.com/l/_uKQ3rmwXs8mH

108. Describe the usefulness of water in biosphere and

biological systems.

o Watch Video Solution

109. What properties of water make it useful as a solvent?
What types of compound can it (i) dissolve, and (ii)

hydrolyse ?

° Watch Video Solution

110. Knowing the properties of H,O and D50, do you think

that D50 can be used for drinking purposes?

| e |


https://dl.doubtnut.com/l/_uKQ3rmwXs8mH
https://dl.doubtnut.com/l/_PUi64NURrjRw
https://dl.doubtnut.com/l/_SCMjd10PrefN
https://dl.doubtnut.com/l/_m1wJF40PkUv2

| & Watch Video Solution ]

111. What is the difference between the terms ‘hydrolysis’

and ‘hydration’ ?

o Watch Video Solution

112. How can saline hydrides remove traces of water from

organic compounds?

° Watch Video Solution

113. What do you expect the nature of hydrides is, if formed
by elements of atomic numbers 15, 19, 23 and 44 with

dihydrogen? Compare their behaviour towards water.


https://dl.doubtnut.com/l/_m1wJF40PkUv2
https://dl.doubtnut.com/l/_jPn9C6NcLhno
https://dl.doubtnut.com/l/_BCrESbISuuEv
https://dl.doubtnut.com/l/_U0dGIkXc5QJY

o Watch Video Solution

114. Do you expect different products in solution when
aluminium(lll) chloride and potassium chloride treated
separately with (i) normal water (ii) acidified water, and (iii)

alkaline water? Write equations wherever necessary.

o Watch Video Solution

115. How does H50O, behave as a bleaching agent?

o Watch Video Solution



https://dl.doubtnut.com/l/_U0dGIkXc5QJY
https://dl.doubtnut.com/l/_uAo9MwdY77ak
https://dl.doubtnut.com/l/_ugN8RCHb8wTn

116. What do you understand by the terms:
(i) hydrogen economy

(ii) hydrogenation

(ii) syngas

(iv) water-gas shift reaction

(v) fuel-cell

o Watch Video Solution

117. What are the common physical and chemical features of

alkali metals?

° Watch Video Solution



https://dl.doubtnut.com/l/_d16k8JUmbs5n
https://dl.doubtnut.com/l/_J5xtDde8E2KR

118. Discuss the general characteristics and gradation in the

properties of Alkaline Earth metals.

° Watch Video Solution

119. Why are alkali metals not found in nature ?

o Watch Video Solution

120. Find out the oxidation state of sodium in Na,O

° Watch Video Solution

121. Explain, why is sodium less reactive than potassium ?



https://dl.doubtnut.com/l/_7kxMaG3hjbQ7
https://dl.doubtnut.com/l/_3XYYW7tW6oKd
https://dl.doubtnut.com/l/_pohWYkhHufEX
https://dl.doubtnut.com/l/_QcveEaNwBp2q

| ° Watch Video Solution

122. Compare the alkali metals and alkaline earth metals
with respect to

(i) ionisation enthalpy

(ii) basically of oxides and

(iii) solubility of hydroxides

° Watch Video Solution

123. In what ways lithium shows similarities to magnesium in

its chemical behaviour?

o Watch Video Solution



https://dl.doubtnut.com/l/_QcveEaNwBp2q
https://dl.doubtnut.com/l/_4jHM0tJRfIVn
https://dl.doubtnut.com/l/_98VuDL1LS4Qp
https://dl.doubtnut.com/l/_eZFO2M7dYTVL

124. Explain why can alkali and alkaline earth metals not be

obtained by chemical reduction methods ?

o Watch Video Solution

125. Why are potassium and caesium rather than lithium

used in photoelectric cells ?

° Watch Video Solution

126. When an alkali metal dissolves in liquid ammonia the
solution can acquire different colours. Explain the reasons

for this type of colour change

° Watch Video Solution



https://dl.doubtnut.com/l/_eZFO2M7dYTVL
https://dl.doubtnut.com/l/_PNcrr96E3Bny
https://dl.doubtnut.com/l/_OhWCahLuaZPu
https://dl.doubtnut.com/l/_NYtL9x3ArOnd

127. Beryllium and magnesium to not give colour to flame

whereas other alkaline earth metals do so. Why ?

o Watch Video Solution

128. How is sodium carbonate manufactured by Solvay's
process? Draw a schematic diagram and explain all the steps
involved in the process. What is the action of heat on

sodium carbonate ?

° Watch Video Solution

129. Potassium carbonate cannot be prepared by Solvay

process. Why ?

s l


https://dl.doubtnut.com/l/_NYtL9x3ArOnd
https://dl.doubtnut.com/l/_qRn49xy5QGFE
https://dl.doubtnut.com/l/_sLCt0toHj4H9

| ¥ VWatch video >Solution ]

130. Why is Li;C'O3 decomposed at a lower temperature

whereas Nay(C O3 at higher temperature ?

° Watch Video Solution

131. Starting with sodium chloride how would you proceed
to prepare (i) sodium metal (ii) sodium hydroxide (iii)

sodium peroxide (iv) sodium carbonate ?

° Watch Video Solution

132. What happens when (i) magnesium is burnt in air (ii)

quick lime is heated with silica (iii) chlorine reacts with


https://dl.doubtnut.com/l/_sLCt0toHj4H9
https://dl.doubtnut.com/l/_eUQTLVK22iwu
https://dl.doubtnut.com/l/_l3iG2HuW77Da
https://dl.doubtnut.com/l/_utAu5A81E5UF

slaked lime (iv) calcium nitrate is heated ?

o Watch Video Solution

133. Describe two important uses of each of the following: (i)

caustic soda (ii) sodium cabonate (iii) quicklime

° Watch Video Solution

134. Draw the structure of (i) BeCly (vapour) (ii) BeCl,

(solid)

o Watch Video Solution



https://dl.doubtnut.com/l/_utAu5A81E5UF
https://dl.doubtnut.com/l/_Xo8KZhl65UhP
https://dl.doubtnut.com/l/_KME6aIYU3uNA

135. The hydroxides and carbonates of sodium and
potassium are easily soluble in water while the
corresponding salts of magnesium and calcium are

sparingly soluble in water. Explain.

o Watch Video Solution

136. Describe the importance of the following: (i) limestone

(i1) cement (iii) plaster of paris

o Watch Video Solution

137. Why are lithium salts commonly hydrated and those of

the other alkali ions usually anhydrous?

S 000 ]


https://dl.doubtnut.com/l/_o4ueIj3YqEvS
https://dl.doubtnut.com/l/_9VpoeEpLWy6c
https://dl.doubtnut.com/l/_VIyTZkticfQI

[ W Watch Video Solution ]

138. Why is LiF almost insoluble in water whereas LiCl

soluble not only in water but also in acetone ?

o Watch Video Solution

139. Explain the significance of sodium, potassium,

magnesium and calcium in biological fluids.

° Watch Video Solution

140. What happens when

(i) sodium metal is dropped in water?


https://dl.doubtnut.com/l/_VIyTZkticfQI
https://dl.doubtnut.com/l/_sfvrJdlYcf8y
https://dl.doubtnut.com/l/_yitPJ1UKcnvH
https://dl.doubtnut.com/l/_HStqsDECxjZP

(ii) sodium metal is heated in free supply of air?

(iii) sodium peroxide dissolves in water?

° Watch Video Solution

141. Comment on each of the following observations:

(@) The mobilities of the alkali metal ions in aqueous
solutionare Li* < Na™ < K" < Rb" < Cs™

(b) Lithium is the only alkali metal to form a nitride directly
(c) E® for M?" (aq) +2e~ — M(s) (where M=Ca, Sr or

Ba) is nearly constant

° Watch Video Solution



https://dl.doubtnut.com/l/_HStqsDECxjZP
https://dl.doubtnut.com/l/_0JQdR8WGbFs9

142. State as to why

(a) a solution of NayCOs is alkaline ?

(b) alkali metals are prepared by electrolysis of their fused
chlorides?

(c) sodium is found to be more useful than potassium ?

° Watch Video Solution

143. Write balanced equations for reactions between
(@) NayO5 and water
(b) KO, and water

(c) NayO and CO,

o Watch Video Solution



https://dl.doubtnut.com/l/_7kOG33O0BPez
https://dl.doubtnut.com/l/_SDEflH2dOCeO
https://dl.doubtnut.com/l/_YLeItfcT5y4a

144. How would you explain the following observations ?
(i) BeO is almost insoluble but BeSO, is soluble in water
(ii) BaO is soluble but Ba SOy is insoluble in water

(iii) Lil is more soluble than Kl in ethanol

° Watch Video Solution

145. Which of the alkali metal is having least melting point?

A. Na

B. K

C.Rb

D.Cs

Answer:



https://dl.doubtnut.com/l/_YLeItfcT5y4a
https://dl.doubtnut.com/l/_hDHXogls9c93

[ W Watch Video Solution ]

146. Which one of the following alkali metals gives hydrated

salts?

A Li

B. Na

CK

D.C's

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_hDHXogls9c93
https://dl.doubtnut.com/l/_I754SZq51k82

147. Which one of the alkaline earth metal carbonates is

thermally the most stable ?

A MgCOg

B. CCLCOg

C. S’I"COg

D. BCLCO?,

Answer:

° Watch Video Solution

148. Discuss the pattern of variation in the oxidation states

of (i) B to Tl and (ii) C to Pb.

| o Wiakd .\t daa CAliikiam


https://dl.doubtnut.com/l/_ydVPUK7Atmox
https://dl.doubtnut.com/l/_jvj9XxAVl5tT
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149. How can you explain higher stability of BCIl; as

compared to T'lCl3 ?

° Watch Video Solution

150. Why does boron triflouride behave as a Lewis acid ?

o Watch Video Solution

151. Consider the compounds, BCl3 and CCly. How will

they behave with water ? Justify.

o Watch Video Solution



https://dl.doubtnut.com/l/_jvj9XxAVl5tT
https://dl.doubtnut.com/l/_vIzvFsiyxgSr
https://dl.doubtnut.com/l/_tp0NMZvKFHbG
https://dl.doubtnut.com/l/_5BXFMaolN4oL

152. what Is boric acid

° Watch Video Solution

153. Explain what happens when boric acid is heated .

o Watch Video Solution

154. Describe the shapes of BF; and BH, . Assign the

hybridisation of boron in these species.

° Watch Video Solution

155. Write reaction of justify amphoteric nature of zinc oxide



https://dl.doubtnut.com/l/_509GRXgUd2kf
https://dl.doubtnut.com/l/_FnD4jdQZ1vk4
https://dl.doubtnut.com/l/_TWVMqSUtxVEq
https://dl.doubtnut.com/l/_3piFnGIkyoJw

| ° Watch Video Solution

156. What are electron deficient compounds ? Are

BCl; and SiCl, electron deficient species ? Explain.

° Watch Video Solution

157. Write the resonance structures of C’Og_ and HCO; .

° Watch Video Solution

158. What is the state of hybridisation of carbon in (a)

C’Og_ (b) diamond (c) graphite?

° Watch Video Solution



https://dl.doubtnut.com/l/_3piFnGIkyoJw
https://dl.doubtnut.com/l/_qMy4v2Cdv672
https://dl.doubtnut.com/l/_HzZbEtGmsM8h
https://dl.doubtnut.com/l/_hmFRb6KqmoYL

159. Explain the difference in properties of diamond and

graphite on the basis of their structures.

° Watch Video Solution

160. Rationalise the given statements and give chemical
reactions : « Lead(ll) chloride reacts with Cl, to give PbCly.
Lead(IV) chloride is highly unstable towards heat. « Lead is

known not to form an iodide, Pbly.

° Watch Video Solution

161. Suggest reasons why the B-F bond lengths in BFj3 (130

pm) and BF, (143 pm) differ.


https://dl.doubtnut.com/l/_hmFRb6KqmoYL
https://dl.doubtnut.com/l/_naEwAHqzDd5O
https://dl.doubtnut.com/l/_YX7fJGvRS2oK
https://dl.doubtnut.com/l/_4DmDE2KDFpwF

o Watch Video Solution

162. If B-Cl bond has a dipole moment, explain why BCl;

molecule has zero dipole moment.

° Watch Video Solution

163. Aluminium trifluoride is insoluble in anhydrous HF but
dissolves on addition of NaF. Aluminium trifluoride
precipitates out of the resulting solution when gaseous

BFyj is bubbled through. Give reasons.

° Watch Video Solution



https://dl.doubtnut.com/l/_4DmDE2KDFpwF
https://dl.doubtnut.com/l/_AHYhruULRZQn
https://dl.doubtnut.com/l/_RA59YwAzs4sZ

164. Suggest a reason as to why CO is poisonous.

° Watch Video Solution

165. How is excessive content of C'O, responsible for global

warming ?

° Watch Video Solution

166. Explain structures of diborane and boric acid.

° Watch Video Solution



https://dl.doubtnut.com/l/_VXbLGeNcg5Pp
https://dl.doubtnut.com/l/_82scjGX3eQxW
https://dl.doubtnut.com/l/_ZrHOns1xRpjt

167. What happens when

(a) Borax is heated strongly,

(b) Boric acid is added to water,

(c) Aluminium is treated with dilute NaOH,

(d) BFj3 is reacted with ammonia ?

° Watch Video Solution

168. Explain the following reactions

(@) Silicon is heated with methyl chloride at high
temperature in the presence of copper,

(b) Silicon dioxide is treated with hydrogen fluoride,

(c) CO is heated with ZnO,

(d) Hydrated alumina is treated with aqueous NaOH

solution.


https://dl.doubtnut.com/l/_DsrXWpo5EXdk
https://dl.doubtnut.com/l/_hvj9JYiKBAH6

° Watch Video Solution

169. Give reasons

Diamond is used as an abrasive.

° Watch Video Solution

170. Explain why is there a phenomenal decrease in

ionization enthalpy from carbon to silicon ?

o Watch Video Solution

171. How would you explain the lower atomic radius of Ga as

compared to Al ?

| = |


https://dl.doubtnut.com/l/_hvj9JYiKBAH6
https://dl.doubtnut.com/l/_wzGcwkACLWSO
https://dl.doubtnut.com/l/_krCDeKvHsMFA
https://dl.doubtnut.com/l/_MtuAomdiiQlN

| @J Watch Video Solution I

172. ALLOTROPES OF CARBON

° Watch Video Solution

173. a. Classify following oxides as neutral, acidic, basic or
atphoteric: CO, 3203, S’I:Oz, 002, Al203, PbOQ, Tl203.

b. Write suitable chemical reaction to show their nature.

° Watch Video Solution

174. In some of the reactions thallium resembles aluminium,
whereas in others it resembles with group | metals. Support

this statement by giving some evidences.


https://dl.doubtnut.com/l/_MtuAomdiiQlN
https://dl.doubtnut.com/l/_kZwJuEFR2v1R
https://dl.doubtnut.com/l/_qH4Z15qdwvyl
https://dl.doubtnut.com/l/_Xwiz5fdf3WYK

o Watch Video Solution

175. The metallic salt (XY) is soluble in water.

(a) When the aqueous soluble of (XY) is treated with
NaOH solution, a white precipitate (A) is formed. In excess
of NaOH solution, a white precipitate (A) is formed. In
excess of NaOH solution, white precipitate (A) dissolves
to form a compound (B). When this solution is boiled with
soild NH,ClI, a precipitate of compound (C) is formed.

(b) An aqueous solution on treatment with BaCl, solution
gives a white precipitate (D) white is insoluble in conc HCI.
( ¢) The metallic salt (XY) forms a double salt (E) with
potassium sulphate.

(dentify (XY), (4), (B), (C), (D) and (E).

° Watch Video Solution



https://dl.doubtnut.com/l/_Xwiz5fdf3WYK
https://dl.doubtnut.com/l/_bqpvKYWHxkOA

176. What do you understand by (a) inert pair effect (b)

allotropy and (c) catenation?

° Watch Video Solution

177. A certain salt (X) gives the following tests :

(a) Its aqueous solution is alkaline to litmus.

(b) On strong heating, it swells up to give a glassy material
(Y).

(c) When conc. HySO, is added to a hot concentrated
solution of (X), white crystal of a weak acid (Z) separates
out.

Identify (X), (Y) and (Z) and write down the chemical

equations for reaction at steps a, b and c.


https://dl.doubtnut.com/l/_bqpvKYWHxkOA
https://dl.doubtnut.com/l/_5iUYWecLWvgH
https://dl.doubtnut.com/l/_kEbEgh13k7bg

o Watch Video Solution

178. Write balanced equations for:
(i) BFs + LiH —

(ii) BgHﬁ + H2O —

, A

(iv) HsBO3 —

(v) Al + NaOH —

(vi) BQHG + NH3 —

° Watch Video Solution

179. Give one method for industrial preparation and one for

laboratory preparation of CO and C'O, each.

| o Wiakd .\t daa CAliikiam


https://dl.doubtnut.com/l/_kEbEgh13k7bg
https://dl.doubtnut.com/l/_cXGdGOW1AfEg
https://dl.doubtnut.com/l/_5b9DX2VRgQau

L ¥Yvdlilll VIUCU JQVIULIVII

180. An aqueous solution of borax is

A. Neutral

B. Amphoteric

C. Basic

D. Acidic

Answer:

o Watch Video Solution

181. Boric acid is polymeric due to :

A. Its acidic nature


https://dl.doubtnut.com/l/_5b9DX2VRgQau
https://dl.doubtnut.com/l/_3GXUqmrFEqr8
https://dl.doubtnut.com/l/_qlnRNxjRjHrs

B. The presence of hydrogen bonding

C. Its monobasic nature

D. Its geometry

Answer:

o Watch Video Solution

182. The type of hybridization of boron in bibroane is


https://dl.doubtnut.com/l/_qlnRNxjRjHrs
https://dl.doubtnut.com/l/_CTEu8ouiM1SV

Answer:

o Watch Video Solution

183. Which is hardest allotrope of carbon.

A. Diamond

B. Graphite

C. Fullerene

D. Coal

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_CTEu8ouiM1SV
https://dl.doubtnut.com/l/_dbWEkotf52PB

184. Elements of group 14 exhibit oxidation state of

A. Exhibit oxidation state of +4 only

B. Exhibit oxidation state of +2 and +4

C.Form M?* and M*™ ions

D. Form M3t and M*" ions

Answer:

o Watch Video Solution

185. If the starting material for the manufacture of silicones

is RSiCl3, write the structure of the product formed.

o Watch Video Solution



https://dl.doubtnut.com/l/_5idiIDt81TQr
https://dl.doubtnut.com/l/_yC3gtOLlBE8Z

186. Why trihalides of group 13 elements fume in moist air?

° Watch Video Solution

187. Account for the following:

Boron forms electron deficient compounds.

° Watch Video Solution

188. Which element amont group 13 has the highest

ionisation enthalpy?

o Watch Video Solution



https://dl.doubtnut.com/l/_95HrYbQ2tyNx
https://dl.doubtnut.com/l/_CyRSCYCwqyhr
https://dl.doubtnut.com/l/_6Lwlzohcj4Op

189. Answer the following :
(@) Name of element of group 13 which forms the most

stable compound in 41 oxidation state..

o Watch Video Solution

190. Name the most abundant metal in the earth's crust. To

which group does it belong?

° Watch Video Solution

191. Name the elements of group 13 which form amphoteric

hydroxides.

o Watch Video Solution



https://dl.doubtnut.com/l/_6TQOMsOzHMIg
https://dl.doubtnut.com/l/_OPsmYew5vKI5
https://dl.doubtnut.com/l/_IUleNVo428Zn

192. Name the metal which is commonly used as a reducing

agent is metallurgical operations.

° Watch Video Solution

193. What is the valence shell electronic configuration of

group 1 elements?

° Watch Video Solution

194. What is Tincal?

° Watch Video Solution



https://dl.doubtnut.com/l/_IUleNVo428Zn
https://dl.doubtnut.com/l/_Z0fFEW8w6Hm2
https://dl.doubtnut.com/l/_eGE3GCJAAXzh
https://dl.doubtnut.com/l/_2WDGbeWCY1Qr
https://dl.doubtnut.com/l/_i8nHkGcZTVHW

195. Name the two metals present in common alum.

° Watch Video Solution

196. Give the formula of inorgainic benzene?

o Watch Video Solution

197. What is thermite mixture?

o Watch Video Solution

198. Give the name of compound of aluminium which is used

as germicide and coagulant in the purification of water.

| ° \WAiat~h \NiAaA CAlLiikiAan



https://dl.doubtnut.com/l/_i8nHkGcZTVHW
https://dl.doubtnut.com/l/_1xDdGRptRTec
https://dl.doubtnut.com/l/_K45FGMFKMkj3
https://dl.doubtnut.com/l/_o2x7hMIjnBST
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199. What is the oxidation state of Ga in GaCl5?

o Watch Video Solution

200. Why [BF;])® ™ ion does not exist?

o Watch Video Solution

201. What are the basic units in the structure of orthoboric

acid? How are they linked?

° Watch Video Solution



https://dl.doubtnut.com/l/_o2x7hMIjnBST
https://dl.doubtnut.com/l/_AVct9DTM4sWA
https://dl.doubtnut.com/l/_BN0v3EOyajfz
https://dl.doubtnut.com/l/_toDR9BqcN4ja

202. What are silver paint and german silver made of?

° Watch Video Solution

203. Which element of group 13 forms covalent compounds

only

o Watch Video Solution

204. Why aluminium shows a higher covalency than boron?

° Watch Video Solution

205. Which oxide of carbon is an anhydride of carbonic acid?



https://dl.doubtnut.com/l/_7JeTBvJjKCmo
https://dl.doubtnut.com/l/_64aYXFWKcrPL
https://dl.doubtnut.com/l/_eOWfOVrt9ZLc
https://dl.doubtnut.com/l/_LkgwzqkWQ3ei

| ° Watch Video Solution

206. What happens when a borax solution is acidified ?

Write a balanced equation for the reaction.

° Watch Video Solution

207. With the help of a balanced chemical equation, show

that B(OH), behaves as an acid in water.

o Watch Video Solution

208. Explain what happens when boric acid is heated .

° Watch Video Solution



https://dl.doubtnut.com/l/_LkgwzqkWQ3ei
https://dl.doubtnut.com/l/_p2MyzBMRMcbx
https://dl.doubtnut.com/l/_gdzgf5rhWmRY
https://dl.doubtnut.com/l/_vFSG4jACPZWJ

209. How does electron deficient compound BEFj3 achieve
electron saturation, i.e. fully occupied outer electronic

shells?

° Watch Video Solution

210. Why the elements of the second row (first short
period)? exhibit a number of differences in properties from

othero members of their respective families ?

° Watch Video Solution

211. Why do boron halides form addition compounds with

ammonia ?


https://dl.doubtnut.com/l/_vFSG4jACPZWJ
https://dl.doubtnut.com/l/_OkzAj7Kv73Pw
https://dl.doubtnut.com/l/_E2eslLGubvQL
https://dl.doubtnut.com/l/_z1AkBPqXUPYS

° Watch Video Solution

212. What are boranes? How is diborane prepared from

boron halides? Discuss its structure.

° Watch Video Solution

213. To which block of the periodic table group 13
belongs.What is the general outer electronic configuration

of this group?

o Watch Video Solution



https://dl.doubtnut.com/l/_z1AkBPqXUPYS
https://dl.doubtnut.com/l/_Bepwp4jJu3C8
https://dl.doubtnut.com/l/_XkKBfqmEu0zs

214. Write the general valence shell electronic configuration

of group 14 elements.

° Watch Video Solution

215. Out of C'Cl4 and SiCl,, which one react with water.

° Watch Video Solution

216. Explain why silicon shows a higher covalency than

carbon.

o Watch Video Solution



https://dl.doubtnut.com/l/_z7gKQCfUkuH6
https://dl.doubtnut.com/l/_LW302fcMEpH2
https://dl.doubtnut.com/l/_zl6suuVPduZN

217. Why is diamond a bad conductor of electricity but a

good conductor of heat?

o Watch Video Solution

218. What is the correct structural formula of borax?

° Watch Video Solution

219. What is dry ice and why is it called so ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Pgfpmd5xyYAQ
https://dl.doubtnut.com/l/_8J1YHv07fKVM
https://dl.doubtnut.com/l/_Ufg3e0r9O4Sq

220. What is catenation ? Why is it most prominent for

carbon ?

° Watch Video Solution

221. What is water gas? How it is prepared?

° Watch Video Solution

222. Which of two elements, carbon and silver, form multiple

bonds?

o Watch Video Solution



https://dl.doubtnut.com/l/_qA7lWJLPazeb
https://dl.doubtnut.com/l/_tczNLPRDLd3A
https://dl.doubtnut.com/l/_FZAWnZTlvmuF

223. Mention an industrial application of silicones.

° Watch Video Solution

224.The basic structural unit of silicates is

o Watch Video Solution

225. Name three allotropic forms of carbon. Which one is a

good conductor of electricity?

° Watch Video Solution



https://dl.doubtnut.com/l/_8hOtPEj8Nzqs
https://dl.doubtnut.com/l/_gn3XjpJvqksi
https://dl.doubtnut.com/l/_uvmzNAtHK8LU

226. The recently discovered allotrope of carbon (e. g Cy is

commonly known as _

° Watch Video Solution

227. Which isotope of carbon is radioactive?

° Watch Video Solution

228. The soldier of Napolean army while at Alps during
freezing winter suffered a serious problem as regards to the
tin buttons of their uniforms. White metallic tin buttons got

converted to grey powder. This transformation is related to :

o Watch Video Solution



https://dl.doubtnut.com/l/_L2xSFdC0rfEK
https://dl.doubtnut.com/l/_oLUmcFFMXEt0
https://dl.doubtnut.com/l/_gQyDEQWovNaR

229. Why is not sulphuric acid used for the preparation of

CO, from marble chips?

° Watch Video Solution

230. Why Al,O3 is amphoteric while ByO3 is acidic ?

o Watch Video Solution

231. Why is borazole called inorganic benzene?

o Watch Video Solution



https://dl.doubtnut.com/l/_gQyDEQWovNaR
https://dl.doubtnut.com/l/_yICzv893cpWB
https://dl.doubtnut.com/l/_aUpCl7hVZy8F
https://dl.doubtnut.com/l/_Cafw5VgsE8IC

232. Which of the following reactions of Al is known as the

thermite reaction?

° Watch Video Solution

233. The Lewis acid character of halides of boron are as

follows :

o Watch Video Solution

234.Why is BF3 a Lewis acid?

o Watch Video Solution



https://dl.doubtnut.com/l/_fbwem1bn6vM0
https://dl.doubtnut.com/l/_DplgmqoiNCGV
https://dl.doubtnut.com/l/_ZkuaFZ82IuFu

235. How many sigma and pi bonds are present in borazole?

° Watch Video Solution

236. There are two H-bridge bonds in diborane molecule

because there are

o Watch Video Solution

237. What happens when aluminium is treated with conc.

HNO;?

o Watch Video Solution



https://dl.doubtnut.com/l/_kgmHlsqzZvHk
https://dl.doubtnut.com/l/_9QaeJQT6qD5q
https://dl.doubtnut.com/l/_xdbMvh3y7JE4

238. What type of bonding is there in aqueous aluminium

chloride?

° Watch Video Solution

239. What is the purpose of using alum in dyeing of cloth?

o Watch Video Solution

240. What is the number of hydrogen atoms bridging the

boron atoms in diborane?

o Watch Video Solution



https://dl.doubtnut.com/l/_JgDJMMEnl81N
https://dl.doubtnut.com/l/_iIYltRX29BNO
https://dl.doubtnut.com/l/_j1HOobuzh4vZ

241. Why boron forms electron deficient compounds?

° Watch Video Solution

242.Name three important amorphous forms of silica.

o Watch Video Solution

243. Name three important crystalline forms of silica.

° Watch Video Solution

244. HNQOs3 has no action of aluminium, whether it is dilute

or concentrated?



https://dl.doubtnut.com/l/_8OPOBibiskjg
https://dl.doubtnut.com/l/_lMrUZFjpHYdP
https://dl.doubtnut.com/l/_JECFqtO6prRb
https://dl.doubtnut.com/l/_QOdQDzGk4jCv

| ° Watch Video Solution

245. Name the following boric acids:
a.H3BO3 or B,O3.3H50

b.HBO, or B,O3. Hy,O

c. HbB,O7 or 2B,05. H,O

d. H6B4Og or 232033H20

° Watch Video Solution

246. Why is CO combustible and C'O5 non-combustable?

o Watch Video Solution



https://dl.doubtnut.com/l/_QOdQDzGk4jCv
https://dl.doubtnut.com/l/_gPEzvjJxrwBf
https://dl.doubtnut.com/l/_OZmceGDPAtMd

247. Pure silicon and germanimum are

° Watch Video Solution

248. Why is the melting point of diamond high, in spite of

the fact that it is covalent in nature?

o Watch Video Solution

249. Why carbon exists as the hardest crystalline solid,

though it is a non metal?

o Watch Video Solution



https://dl.doubtnut.com/l/_x7VDUJTDbSpP
https://dl.doubtnut.com/l/_ZK0K85228w93
https://dl.doubtnut.com/l/_RgkDFpNhiUUR

250. Why is C' — C bond length in graphite shorter than in

C — C bond length in diamond?

o Watch Video Solution

251. What is mononuclear metal carbonyl?

° Watch Video Solution

252. Tin gives sulphates and nitrates, but silicon does not.

Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_v65Vg11wdvwg
https://dl.doubtnut.com/l/_UEpiR5OfdcL8
https://dl.doubtnut.com/l/_EgConkjlyKGl

Exercise Very Short

1. What is the basis of the long form of the periodic table?

° Watch Video Solution

2. Give a general idea of Dobereiner triads with one example.

o Watch Video Solution

3. Newland's law of octaves states that

° Watch Video Solution



https://dl.doubtnut.com/l/_c9rucop7ngSQ
https://dl.doubtnut.com/l/_dcF1GvEC2vPZ
https://dl.doubtnut.com/l/_I6us3aiaindP

4. State Mendeleevs periodic law.

° Watch Video Solution

5. What is meant by periodicity of properties?

o Watch Video Solution

6. Why do elements in the same group have similar physical

and chemical properties?

° Watch Video Solution

7. State modern periodic law of classification of elements.



https://dl.doubtnut.com/l/_PkZH5lFcvyox
https://dl.doubtnut.com/l/_ycxX9o0nbvz2
https://dl.doubtnut.com/l/_wpC33iyXLwTh
https://dl.doubtnut.com/l/_3gpggKYLLv59

| ° Watch Video Solution

8. State the reason for periodicity of elements in periods

and groups.

o Watch Video Solution

9. How many groups and how many periods are there in

long form of periodic table?

o Watch Video Solution

10. With which quantum number every period in periodic

table begins?

| o |


https://dl.doubtnut.com/l/_3gpggKYLLv59
https://dl.doubtnut.com/l/_ywrMnGXcTFQ5
https://dl.doubtnut.com/l/_9BJr7OXojyGI
https://dl.doubtnut.com/l/_GVpuz8NVrsci

[ W Watch Video Solution ]

1. What are s-block elements ? Write their general

electronic configurations.

° Watch Video Solution

12. Give general electronic configuration of s — block

elements.

o Watch Video Solution

13. What are p-block elements? Give their general

electronic configuration.

| ° \WAiat~h \NiAaAaA CAliikiAan



https://dl.doubtnut.com/l/_GVpuz8NVrsci
https://dl.doubtnut.com/l/_olcKKbdApLuT
https://dl.doubtnut.com/l/_Ul37CP9nidqA
https://dl.doubtnut.com/l/_JKMsffRMSLaz

| € AAA-LAMIEER AL AV Ar* VAL 1310911 J

14. Representative elements are elements of

o Watch Video Solution

15. What are d-block elements? Why are they called

transition metals?

o Watch Video Solution

16. The general electronic configuration of d-block elements

is

° Watch Video Solution



https://dl.doubtnut.com/l/_JKMsffRMSLaz
https://dl.doubtnut.com/l/_bKDPhn3bKLCr
https://dl.doubtnut.com/l/_RyOiZYvu2lDf
https://dl.doubtnut.com/l/_1lsLlilLSo7f

17. To which series man-made elements belong?

° Watch Video Solution

18. What is meant by lanthanides and actinides?

o Watch Video Solution

19. Which of lanthanides is man-made element?

° Watch Video Solution

20. What are inner transition metals? Why are they called

rare earth metals?



https://dl.doubtnut.com/l/_fRPVBGKesi5v
https://dl.doubtnut.com/l/_JrvtVs1pb99h
https://dl.doubtnut.com/l/_sEIJ352QQbeW
https://dl.doubtnut.com/l/_7DuX8hd3tL1f

| ° Watch Video Solution

21. Give general electronic configuration of f-block elements.

o Watch Video Solution

22. Which orbitals are filled with electrons in 3rd period?

° Watch Video Solution

23. Give general electronic configuration of least reactive

group. Why are they least reactive?

o Watch Video Solution



https://dl.doubtnut.com/l/_7DuX8hd3tL1f
https://dl.doubtnut.com/l/_D5X8rG73Uc5o
https://dl.doubtnut.com/l/_nyOD9kLz6PEk
https://dl.doubtnut.com/l/_3zIt7Cr2r0Qj
https://dl.doubtnut.com/l/_E91EZSrSHepM

24. Which of the following requires highest energy:

a.M(g) — M(E';)

2
b.M(g) — M(;_)

3
C.M(g) —>M(g+)

4
d.M(g) —>M(;)

o Watch Video Solution

25. How do atomic radius vary in a period and in a group?

How do you explain the variation?

° Watch Video Solution

26. Define (a) ionic radii and (b) covalent radii.

| o \WAiat~h \NiAaAaA CAlLiikiAan



https://dl.doubtnut.com/l/_E91EZSrSHepM
https://dl.doubtnut.com/l/_WgRvVZmlG2ZR
https://dl.doubtnut.com/l/_6yMnuhNfznKJ

| ¢ AAA-LAMIE IR AL AV Ar* AYAIL 1310941 J

27. Why do noble gases have comparatively large atomic

sizes?

° Watch Video Solution

28. Define ionisation energy . What is its value for a

hydrogen atom ?

° Watch Video Solution

29. How does ionisation energy vary (a) down the group and

(b) along the period from left to right?

o Watch Video Solution



https://dl.doubtnut.com/l/_6yMnuhNfznKJ
https://dl.doubtnut.com/l/_MyWgMo72NGWc
https://dl.doubtnut.com/l/_N03rAQ8hTmlc
https://dl.doubtnut.com/l/_YGpPUESD7jcD

30. A and B belong to same group of periodic table. A has
higher atomic number than B. Which will have lower

ionisation energy and why?

o Watch Video Solution

31. The problem of position of isotopes in the periodic table
was

avoided by arranging elements is ascending order of

° Watch Video Solution



https://dl.doubtnut.com/l/_YGpPUESD7jcD
https://dl.doubtnut.com/l/_txkLb8QVrKG8
https://dl.doubtnut.com/l/_mfwm5Foh8EjO

32. Two different elements may have same mass number but

not the same

° Watch Video Solution

33. When compared to lithium, it is easier to remove valence

electron from K (potassium) because potassium has lower

° Watch Video Solution

34. Chlorine has more electron affinity than fluorine.

° Watch Video Solution



https://dl.doubtnut.com/l/_nU4tSOWWfDP4
https://dl.doubtnut.com/l/_UoDpOrAuSwU7
https://dl.doubtnut.com/l/_xHey4DnhfZHr
https://dl.doubtnut.com/l/_nO1lfB84h3QM

35. Among (the non-radioactive) halogens the element that

has the lowest electron affinity is

o Watch Video Solution

36. Name the radioactive element of group 17 and

group 18

o Watch Video Solution

37. Among Li,Na,K,Rb,C's, the element with the lowest

ionisation energy is _

° Watch Video Solution



https://dl.doubtnut.com/l/_nO1lfB84h3QM
https://dl.doubtnut.com/l/_7K9k9U7MGWXm
https://dl.doubtnut.com/l/_33rEsGCjnPe6
https://dl.doubtnut.com/l/_pW4X3iQzMbAp

38. Electron Gain Enthalpy

° Watch Video Solution

39. Generally electron gain enthalpy on going

down a group, and _on going across the period

from left to right.

° Watch Video Solution

40. Why is the second electron gain enthalpy negative (i.e.

energy is absorbed)?

o Watch Video Solution



https://dl.doubtnut.com/l/_pW4X3iQzMbAp
https://dl.doubtnut.com/l/_yL06uqB0wx5q
https://dl.doubtnut.com/l/_42hqcht8dGgB

41. Give reasons for the following :

Fluorine has lower electron gain enthalpy than chlorine.

° Watch Video Solution

42. Isoelectronic species have the same number of

o Watch Video Solution

43. Lanthanides and actinides belong to  block of

the periodic table.

° Watch Video Solution



https://dl.doubtnut.com/l/_fHpxyFrP2GZ9
https://dl.doubtnut.com/l/_xL07mU4pPfdi
https://dl.doubtnut.com/l/_GbB5Tj0EJWb9
https://dl.doubtnut.com/l/_050w1FJR8mJo

44. Generally, the atomic size along a period gradually

decreases due to increase in

o Watch Video Solution

45, The formula for fluoride of carbon is

° Watch Video Solution

46. The solubility of alkali metal carbonate  as one

goes down the group.

o Watch Video Solution



https://dl.doubtnut.com/l/_050w1FJR8mJo
https://dl.doubtnut.com/l/_BtKU8pi0xN5E
https://dl.doubtnut.com/l/_h0sZDQmVwxEq

47. The electronic configuration of Re3" is (Xe)4f'*5d*,

the number of unpaired electrons in this ion is _

° Watch Video Solution

48. Lather Meyer drew a graph showing the relation

between atomic and atomic )

o Watch Video Solution

49. Second period ends with _

o Watch Video Solution



https://dl.doubtnut.com/l/_bT95I9CuULOS
https://dl.doubtnut.com/l/_qnMOx1RfVgyK
https://dl.doubtnut.com/l/_ocRmrBwdU0CS

50. The first transition series is called  transition

series.

o Watch Video Solution

51. Alkali metals have low ionisation energy. Why is it so?

° Watch Video Solution

52. Why lanthanides and actinides have been placed

separately in the periodic table ?

o Watch Video Solution



https://dl.doubtnut.com/l/_BACN0QTcD3Qa
https://dl.doubtnut.com/l/_yt7zqRzOWxEF
https://dl.doubtnut.com/l/_kH04LbNp663G

53. Why does the solubility of alkaline earth metal

hydroxides in water increase down the group ?

° Watch Video Solution

54. Explain :

Cation has smaller size than neutral atom.

° Watch Video Solution

55. Explain :

Anion has larger size than neutral atom.



https://dl.doubtnut.com/l/_lI0ofH7eQHGF
https://dl.doubtnut.com/l/_OjliFZGQvosa
https://dl.doubtnut.com/l/_hCO9uj5SHntx

[ W Watch Video Solution ]

56. Which of the following species will have the largest and

the smallest size Mg, Mg>", Al, AI®"?

o Watch Video Solution

57.Which has the largest ionic radius Ca®* ,Mg* " ,Ba**?

° Watch Video Solution

58. Define various types of atomic radii. Why is covalent
radius smaller than metallic and van der Waals' radii ? How

do atomic radii vary in a group and in a period.

| o Watch Video Solution


https://dl.doubtnut.com/l/_hCO9uj5SHntx
https://dl.doubtnut.com/l/_2FNASpoajM9u
https://dl.doubtnut.com/l/_4UWQac5f44PC
https://dl.doubtnut.com/l/_hqSknMJR2K5r

59. Electronegativity is

o Watch Video Solution

60. Define electronegativity. How does it vary in the periodic

table?

° Watch Video Solution

61. Write the general outer electronic configuration of s-, p-,

d- and f- block elements.

° Watch Video Solution



https://dl.doubtnut.com/l/_hqSknMJR2K5r
https://dl.doubtnut.com/l/_q7ORA79sZx60
https://dl.doubtnut.com/l/_kznukjl3jGWB
https://dl.doubtnut.com/l/_ylBdWRFx7LoO
https://dl.doubtnut.com/l/_2gGxGPiVI3Oh

62. What is the nature of oxides formed by most of p-block

elements?

o Watch Video Solution

63. Indentify the atom or ion which has larger radius in each
of the following pair:

alClor§

b.C1® or 5~

c.Naor Mg

d.Mg>" or AT

o Watch Video Solution



https://dl.doubtnut.com/l/_2gGxGPiVI3Oh
https://dl.doubtnut.com/l/_m0DbicOH1wa9

64. Among the elements , Li, K, Ca,Cl and Kr, the

element K has the lowest IE and K7 has the highest IE.

° Watch Video Solution

65. Which element in each of the following pairs of elements
would you expect to have lower first ionisation energy?
Explain.

cl,s

o Watch Video Solution

66. lonisation potential increases in a period from left to

right because

S 2000 I


https://dl.doubtnut.com/l/_6ByWwzK726ue
https://dl.doubtnut.com/l/_3ohzWTA3sikA
https://dl.doubtnut.com/l/_p3aBmoVVCHGW

[ W Watch Video Solution ]

67. Which out of the IV or O has higher electron gain

enthalpy?

o Watch Video Solution

68. Which of the following pairs would have a larger size?
Explain.

BrorBr—

o Watch Video Solution

69. Atomic number (Z) of elements is 108. Write its

electronic configuration and name the group to which does


https://dl.doubtnut.com/l/_p3aBmoVVCHGW
https://dl.doubtnut.com/l/_xld7XMhjILHO
https://dl.doubtnut.com/l/_7tS82HoVAvAo
https://dl.doubtnut.com/l/_cVINMRiM7qpi

it belong?

o Watch Video Solution

70. Out of Na and Mg which has higher second ionisation

energy?

° Watch Video Solution

Exercise Short

1. The first(IE_ (1)) and second (IE (2))lonization energies
(KJ/mol) of a few elements designated by roman numerals

are given below.Which of these would be an alkali metal?

o Watch Video Solution



https://dl.doubtnut.com/l/_cVINMRiM7qpi
https://dl.doubtnut.com/l/_vnzPla4eJM6d
https://dl.doubtnut.com/l/_owlHoB9WEzFF

2. Give four characteristics of s-block elements.

° Watch Video Solution

3. Give four defects of Mandeleev's periodic table.

° Watch Video Solution

4.why the number of elements in the first period is only 2?

° Watch Video Solution



https://dl.doubtnut.com/l/_owlHoB9WEzFF
https://dl.doubtnut.com/l/_uJrNDcUEcmSX
https://dl.doubtnut.com/l/_UEYyNo0sZozx
https://dl.doubtnut.com/l/_8stt9l9tkocZ

5.0n the basis of their electronic configuration, explain why

alkali metals are highly reactive?

° Watch Video Solution

6. Why do the melting points decrease in going from NaF to

Nal?

o Watch Video Solution

7.Why are group 1 elements called alkali metals ?

o Watch Video Solution



https://dl.doubtnut.com/l/_M7FXZpgJS7ZR
https://dl.doubtnut.com/l/_Rl2uvxN40APq
https://dl.doubtnut.com/l/_CLAmeUy9fG6w

8. Give five characteristics of d-block elements.

° Watch Video Solution

9. (a) What was the basis of Mendeleev's Classification of
elements ?

(b) List two achievements of MendeleeV's periodic tables.

(c) List any two observations which posed a challenge to

Mendeleev's periodic law.

o Watch Video Solution

10. Why does the solubility of alkaline earth metal

carbonates and sulphates in water decrease down the


https://dl.doubtnut.com/l/_STqyZWoqyJcI
https://dl.doubtnut.com/l/_xjDZJBw1VEGr
https://dl.doubtnut.com/l/_xczzYlzMYIAY

group ?

o Watch Video Solution

1. why is melting point of LiCI lower than NaC'I?

o Watch Video Solution

12. Arrange the following in increasing order:
a. BeCO3,BaC03,CaC0O3,MgCO;3,(thermal stability)

b. BeCly,BaCly,MgCl,,C'aCls(ionic character)

o Watch Video Solution



https://dl.doubtnut.com/l/_xczzYlzMYIAY
https://dl.doubtnut.com/l/_uENeNlFHWFwX
https://dl.doubtnut.com/l/_mqCxgD176PTw

13. Which alkali metal carbonate is thermally unstable and

why?

o Watch Video Solution

14. The element which has highest electron affinity ?

° Watch Video Solution

15. What is diagonal relationship?

o Watch Video Solution

16. Give four characteristics of f-block elements.



https://dl.doubtnut.com/l/_xeEnifjsqhaG
https://dl.doubtnut.com/l/_rpLFQwxopp07
https://dl.doubtnut.com/l/_LHzAxkJj70gq
https://dl.doubtnut.com/l/_O9nd7abjucR7

| ° Watch Video Solution

17. Why are electron affinities of noble gases zero? Arrange

halogens in increasing order of electron affinity.

° Watch Video Solution

18. Arrange the species in each group in order of increasing
ionisation energy and give reason:

a. K®,C1° ,Ar ,b. Na,Mg,Al ,c. C,N,O

° Watch Video Solution



https://dl.doubtnut.com/l/_O9nd7abjucR7
https://dl.doubtnut.com/l/_LcQmbGyAUOs8
https://dl.doubtnut.com/l/_Ip55s7cMViRX

19. State the factors which affect

electronaffinity

o Watch Video Solution

20. Explain the term (a) screening effect

° Watch Video Solution

21. which has higher 1st ionisation energy B or Be and why?

° Watch Video Solution

22. How does reducing power of elements vary in group 1?



https://dl.doubtnut.com/l/_J17M9IKD9WDZ
https://dl.doubtnut.com/l/_Get8V5sy1lfO
https://dl.doubtnut.com/l/_yh3ZpeNObGnT
https://dl.doubtnut.com/l/_8Gfr2QhwKSLp

| ° Watch Video Solution

23.a. Among Cu®,Cu?" and Cu which is the largest in size
and why?

b. Which element in periodic table has the highest IE
(ionisation energy)?

c. Which element, Mg or Al, is more metallic and why?

° Watch Video Solution

24. Give two characteristics of p-block elements.

o Watch Video Solution



https://dl.doubtnut.com/l/_8Gfr2QhwKSLp
https://dl.doubtnut.com/l/_jn7smscwdv1p
https://dl.doubtnut.com/l/_OOJpuYHpxltG

25. What is modern periodic law? Mention the important
features of the long form of the periodic table. Why is this
periodic table supposed to be superior to other periodic

tables ?

° Watch Video Solution

26. Elements A and B have atomic numbers 1lland 24
respectively. Write their electronic configuration and predict
(a) group, (b) period, ( c) block to which they belong? Which

of them is representative element?

° Watch Video Solution



https://dl.doubtnut.com/l/_NM8EiBRaHaMp
https://dl.doubtnut.com/l/_S6EeOQotWPXd

27. How do melting and boiling points vary in a (a) period

and (b) group in periodic table?

° Watch Video Solution

28. a. Name the most metallic element in second period and
most non-metallic element.

b. The element with (i) largest atomic radius and (ii) smallest
atomic radius in third period.

c. The element having general electronic configuration

ns’*np? in fourth period.

° Watch Video Solution



https://dl.doubtnut.com/l/_Fh74I07i2jJf
https://dl.doubtnut.com/l/_1PdPSuOSys4n

29. How does electronegativity vary down the group 17 and
why? How does it vary from left to right in period? Name an

element having highest electronegativity.

o Watch Video Solution

30. Among the elements of second period pick out the
element

with the largest atomic radius.

o Watch Video Solution

31. Why C'aClly and NaCl' are bad conductor of electricity in

the solid state.

S 0 I


https://dl.doubtnut.com/l/_nkw3x8AletUj
https://dl.doubtnut.com/l/_GWXlPdoKZYdP
https://dl.doubtnut.com/l/_v604Np2LGEtV

[ W Watch Video Solution ]

32. Write the Lewis dot symbols and predict the valencies for
the elements:

Phosphorous

o Watch Video Solution

33. Out of KCI and CaO, which has higher lattice energy

and why?

° Watch Video Solution

34.1s MgCl, linear or bent or neither of two? Explain

| o Watch Video Solution


https://dl.doubtnut.com/l/_v604Np2LGEtV
https://dl.doubtnut.com/l/_wajKIJMmi0xa
https://dl.doubtnut.com/l/_NKEHphoIuzmh
https://dl.doubtnut.com/l/_wiqezV9icwWV

35. NaBr gives pale yellow precipitate with AgNOj

solution but CBr,4 does not. Why ?

° Watch Video Solution

36. Assertion Geometrical isomers are non-inter- convertible
by rotation.

Reason Alkenes have restricted rotation about pi(7) bond.

° Watch Video Solution

37.1In which cases the octet rule is violated:

BSBTQ, NH3, AlB’I’g, PBT'5, CO%‘, 002, SOQ, SFQ, SFz, SF6



https://dl.doubtnut.com/l/_wiqezV9icwWV
https://dl.doubtnut.com/l/_CbaLP6lCi1mE
https://dl.doubtnut.com/l/_WQ2djjt2pB3v
https://dl.doubtnut.com/l/_hCsdZJM2L8tk

| o Watch Video Solution

38. Give the decreasing order of C — H bond length in

ethane, ethene and ethyne and why?

o Watch Video Solution

39. Which bond is stronger in each of the following cases
and why?

a.Hz, B'I°2 ’ b.O2, N2 , C. Fz, Cl2

o Watch Video Solution



https://dl.doubtnut.com/l/_hCsdZJM2L8tk
https://dl.doubtnut.com/l/_xjNlxXTapgaf
https://dl.doubtnut.com/l/_THeLyy47Cq8y

40. Give the decreasing order of dipole moments of

HF, HCI, HBr,and HI.

° Watch Video Solution

41.what is a sigma and a pi bond.

o Watch Video Solution

42. Which of the following molecule/molecules have zero
dipole moment?

002, CBT4, BCl3, BGClz

° Watch Video Solution



https://dl.doubtnut.com/l/_rCvriOZyDn46
https://dl.doubtnut.com/l/_mryxsb5jIUqU
https://dl.doubtnut.com/l/_uH859VxgA0MR
https://dl.doubtnut.com/l/_FKn5GXDxhZ8V

43. Differentiate between V B theory and Lewis concept.

o Watch Video Solution

44. What orbitals can overlap to form a o-bond and which

orbitals can overlap to form a m-bond?

° Watch Video Solution

45. Write the important conditions required for the linear

combination of atomic orbitals to form molecular orbitals.

o Watch Video Solution



https://dl.doubtnut.com/l/_FKn5GXDxhZ8V
https://dl.doubtnut.com/l/_SHRh1vIet1eq
https://dl.doubtnut.com/l/_TVkLeSON4tfk

46. Answer the following:

a. Which electron takes part in bond formation?

b. What types of forces hold the atoms together in an ionic
compound?

c. What change in energy takes place when a molecule is
fomed from its atoms?

d. In terms of IE and A, H °, what types atoms combine to
from ionic bond?

d. What types of orbitals can overlap to form a covalent

bond.

° Watch Video Solution

47. Out of the following, select the compounds containing

ionic, covalent and coordinate bonds.


https://dl.doubtnut.com/l/_Ndj5MxDM6ttB
https://dl.doubtnut.com/l/_F0Qb16EYoBgv

D
CaCl2, CQHG, MgO, HCl, NH4, 03

o Watch Video Solution

48. What are the conditions which must be satisfied for H-

bonding to take place in a molecule.

° Watch Video Solution

49. What happens to the probability of finding an electron

in the MO’ s after the combination of two AO’s?

° Watch Video Solution

50. What are ST units of dipole moment?


https://dl.doubtnut.com/l/_F0Qb16EYoBgv
https://dl.doubtnut.com/l/_wKqXNawqWSs2
https://dl.doubtnut.com/l/_KNgPR8u60Hk0
https://dl.doubtnut.com/l/_wDQCdvZXxMsu

° Watch Video Solution

51. Out of C'S; and OC'S which have higher dipole moment

and why?

o Watch Video Solution

52. How do you express the bond strength in terms of bond

order?

° Watch Video Solution

53.Is m — MO weaker or stronger than ¢ — MO?

o Watch Video Solution



https://dl.doubtnut.com/l/_wDQCdvZXxMsu
https://dl.doubtnut.com/l/_yipHvWLz7bqu
https://dl.doubtnut.com/l/_Qri6BZGCs96n
https://dl.doubtnut.com/l/_C77dp5Xywe4J

54. The hybridization of carbon atoms in fullerene molecule

is :

° Watch Video Solution

55. With what molecule is CO isoelectronic?

o Watch Video Solution

56. What is the effect of the following processes on the
bond order in Ny and Oy ?
a) N2 — N2+ + e

b)02—>02+ +e

| a VAT L vl . e~


https://dl.doubtnut.com/l/_C77dp5Xywe4J
https://dl.doubtnut.com/l/_vZ4xUChVmrV4
https://dl.doubtnut.com/l/_FkIVMaRfXgrc
https://dl.doubtnut.com/l/_HOWG7ZYPkCHr
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57. The magnetic moment of KO, at room temperature is —

o Watch Video Solution

58. On the basis of VSEPR theory, predict the shapes of
the following molecules/ions?
da. ASF5 ’ b. SbCl3 , C. F2O ’ Cl.I{E;O69

® o—
e HC = CH ,f. NHy,g. NHy ,h. GeF}

o Watch Video Solution



https://dl.doubtnut.com/l/_HOWG7ZYPkCHr
https://dl.doubtnut.com/l/_HUmof91nLUWb
https://dl.doubtnut.com/l/_Q9h2Bs1RfRFj

59. Why is HCl predominantly covalent in the gaseous state

but ionic in the aqueous solution?

° Watch Video Solution

60. Why molbilities of H © ions in ice is greater as compared

to liquid water.

o Watch Video Solution

61. Assertion : lonic bonds are directional in nature whereas
covalent bonds are non-directional.
Reason : According to orbital overlap concept , the

formation of a covalent bond between two atoms results by


https://dl.doubtnut.com/l/_I8aUXy0CcvHw
https://dl.doubtnut.com/l/_MH2ytMV3Zafs
https://dl.doubtnut.com/l/_m209INfppWDT

pairing of electrons present in the valence shell having same

spins.

° Watch Video Solution

62. Write two resonance structure of N>O that satisfy the

octet rule.

° Watch Video Solution

63. Whether molecular ion HeH © exist or not? Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_m209INfppWDT
https://dl.doubtnut.com/l/_cy3QNW8HIvmX
https://dl.doubtnut.com/l/_a2ArC3Ewp81J

64. Out of but-1-yne or but-1-ene which has higher dipole

moment?

° Watch Video Solution

65. Write the structures of the following hydrates which
contains ionic, covalent, coordinates and H — bonds.
a. CUSO45H20 , bZnSO45H2O

C. FGSO47HQO

° Watch Video Solution

66. What happens when steam is passed over red hot coke .

o Watch Video Solution



https://dl.doubtnut.com/l/_OmF93RO1fuCE
https://dl.doubtnut.com/l/_8kE4R9OIOwuc
https://dl.doubtnut.com/l/_YTlfRoy1MelR

67. What is the name of the isotope of hydrogen which

contains 1 proton and 1 neutron?

° Watch Video Solution

68. Give the chemical reaction in which dihydrogen acts as

an oxidising agent.

° Watch Video Solution

69. Which element on treatment with caustic soda solution

produces H, gas?

° Watch Video Solution



https://dl.doubtnut.com/l/_YTlfRoy1MelR
https://dl.doubtnut.com/l/_6yfd1KkgILo9
https://dl.doubtnut.com/l/_VbFiirpAdocd
https://dl.doubtnut.com/l/_raHtMpcYL3TM

70. What is meant by hardening of oils?

° Watch Video Solution

71. Which gaseous compound on treatment with dihydrogen

produces methanol?

° Watch Video Solution

72. In order to produce pure dihydrogen gas, which

combination is used?

o Watch Video Solution



https://dl.doubtnut.com/l/_n4JyfvYMB97l
https://dl.doubtnut.com/l/_SZXhPZO34pCl
https://dl.doubtnut.com/l/_qhTzxyVpSMP5

73. Assertion : Nascent hydrogen is more reactive than
molecular hydrogen.

Reason : Nascent hydrogen is associated with more energy

o Watch Video Solution

74. What is the name given to hydrogen if nuclei of both the
atoms

have same spin?

o Watch Video Solution

75. what happens if conc HySO, is used in preparing

hydrogen by its reaction with a metal?
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https://dl.doubtnut.com/l/_UYWh3wDErXec
https://dl.doubtnut.com/l/_DdVZLFI9raxW
https://dl.doubtnut.com/l/_VsFvCLcPoYQS

[ W Watch Video Solution ]

76. A sample of hard water is allowed to pass through anion

exchange resin. Will it produce lather with soap easily?

o Watch Video Solution

77. What is the mass of one of deuterium oxide?

° Watch Video Solution

78. What is deionised water? Describe the process used to

obtain it.

o Watch Video Solution



https://dl.doubtnut.com/l/_VsFvCLcPoYQS
https://dl.doubtnut.com/l/_czCqO2dEwaKC
https://dl.doubtnut.com/l/_l06aZOQ2W2Rm
https://dl.doubtnut.com/l/_vgRN30XM9ZuG

79. Which gas will be produced when heavy water is treated
with a mixture of calcuim nitride and magnesium nitride?

Give equations.

o Watch Video Solution

80. What type of substances can easily dissolve in water?

o Watch Video Solution

81. Give a reaction in which H,O acts as an oxidising agent.

o Watch Video Solution



https://dl.doubtnut.com/l/_6Xwcpv5zVzA0
https://dl.doubtnut.com/l/_tF85iCfmwcu3
https://dl.doubtnut.com/l/_klHPhbjHw0gY

82. What requirement should be fulfilled by potable water

(water for drinking purpose)?

° Watch Video Solution

83. Which is heavier: water or ice?

° Watch Video Solution

84. What type of bonds are broken when water evaporates?

° Watch Video Solution



https://dl.doubtnut.com/l/_M7hROyqkcW6l
https://dl.doubtnut.com/l/_sLk1vA97qPmJ
https://dl.doubtnut.com/l/_S4T3uf2AF7OM

85. The degree of hardness of a given sample of hard water
is 40ppm. If the entire hardness is due to MgSO,, how

much of MgSO, is present per kg of water?

o Watch Video Solution

86. Why cannot the dilute solution of hydrogen peroxide be

concentrated by strong heating?

° Watch Video Solution

87. Which organic reagent can be used for the manufacture

of hydrogen peroxide?

o Watch Video Solution



https://dl.doubtnut.com/l/_MjRjW5HdeG7L
https://dl.doubtnut.com/l/_oW6oi3aWxvtB
https://dl.doubtnut.com/l/_RADl5u8hQrVm

88. H,Oy + Cly — 2HCI + O,

In the above reaction, H,0O, act as

° Watch Video Solution

89. Assertion (A): The colour of old lead painting can be
restored by washing with dilute solution of H,Os.
Reason (R) : Black lead sulphide is oxidised by H50, to

white lead suphate.

o Watch Video Solution

90. What is the dihedral angle between two H atoms of

H505 in gaseous state?


https://dl.doubtnut.com/l/_RADl5u8hQrVm
https://dl.doubtnut.com/l/_BtWYx4Wc83DQ
https://dl.doubtnut.com/l/_vG6mGiL2QakT
https://dl.doubtnut.com/l/_0ccoMkHU2mOd

° Watch Video Solution

91. What is the product of the reaction between benzene

and HQOQ?

° Watch Video Solution

92. Which isotope of hydrogen contains equal number of

protons and neutrons?

o Watch Video Solution

93. Why is dihydrogen not preferred in weather balloons

these days?
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https://dl.doubtnut.com/l/_0ccoMkHU2mOd
https://dl.doubtnut.com/l/_iFxg5ZtrIeLk
https://dl.doubtnut.com/l/_H7SL1z6KK8PS
https://dl.doubtnut.com/l/_nLGM1OaCMlGK

| @J Watch Video Solution I

94. Name two compounds which retard the decomposition

of HQOQ.

o Watch Video Solution

95. What do you mean by 15 volume H505 solution?

o Watch Video Solution

96. Give an example of a compound in which hydrogen exists

in (a) +1, (b) —1,

o Watch Video Solution



https://dl.doubtnut.com/l/_nLGM1OaCMlGK
https://dl.doubtnut.com/l/_nBlByKKfV7MV
https://dl.doubtnut.com/l/_f8UKFZhZRgux
https://dl.doubtnut.com/l/_a3dAtahKHWyN

97. Can aquatic animals live in distilled water?

o Watch Video Solution

98. Give an example each of an ionic hydride and a covalent

hydride.

° Watch Video Solution

99. Why oxide ion is called a hard ion?

o Watch Video Solution

100. How is D505 prepared?



https://dl.doubtnut.com/l/_FbZfsD4f3AzD
https://dl.doubtnut.com/l/_YyFm7xjy7YmI
https://dl.doubtnut.com/l/_UAWaIOIG8XYp
https://dl.doubtnut.com/l/_VGRF1ObTFAh9

| o Watch Video Solution

101. Complete the following:

CGCQ + 2D20 — ?

° Watch Video Solution

102. 10mL of a given solution of HyOy contains 0.91g of
H,0:.

Express its strength in volume.

° Watch Video Solution



https://dl.doubtnut.com/l/_VGRF1ObTFAh9
https://dl.doubtnut.com/l/_PLpO1dLptTQb
https://dl.doubtnut.com/l/_apFWgBdifWVi

103. In some toothpastes hydrogen peroxide is used. What is

the role of HyO5 in them?

o Watch Video Solution

104. What is Fenton's reagent?

° Watch Video Solution

105. What is perhydrol? Give its composition and use.

o Watch Video Solution



https://dl.doubtnut.com/l/_lA9ALVs5V3Zj
https://dl.doubtnut.com/l/_vIghT0o4kTFB
https://dl.doubtnut.com/l/_phsSyu2XOyEA

106. Explain why calcuim ion makes water hard, but sodium
ion

does not.

° Watch Video Solution

107. Name the alkali metals which combine directly with

nitrogen.

° Watch Video Solution

108. What is the order of reactivity of alkali metals towards

hydrogen?

o Watch Video Solution



https://dl.doubtnut.com/l/_onZLVKpgPTtr
https://dl.doubtnut.com/l/_o5PFOOSfqtt4
https://dl.doubtnut.com/l/_vZKL26YXFdwv

109. Arrange the alkali metals in increasing order of their

density.

° Watch Video Solution

110. Which among Na, K, Cs and Li forms most stable

hydride?

° Watch Video Solution

111. Which among Li, Na, K and Cs has density greater

than water?

o Watch Video Solution



https://dl.doubtnut.com/l/_vZKL26YXFdwv
https://dl.doubtnut.com/l/_hav6k2fS4QXx
https://dl.doubtnut.com/l/_M6iytRlDkdMq
https://dl.doubtnut.com/l/_eD7CZbxwwZAW

12. Arrange K, Ca and Li in order of increasing electrode

potential.

° Watch Video Solution

113. The ionisation enthalpy of Na is less than Ne. Why?

o Watch Video Solution

114. Arrange alkali metal fluorides and halides in the

decreasing order of solubility.

o Watch Video Solution



https://dl.doubtnut.com/l/_Bm9SgAjAIc5v
https://dl.doubtnut.com/l/_dSyoiRknfTIR
https://dl.doubtnut.com/l/_WNLo5J8RguL2

115. Which among Na, Mg, Ba and Ca is the poor reducing

agent?

° Watch Video Solution

116. Arrange alkali metal carbonate in increasing order of

solubility.

o Watch Video Solution

17. Arrange CaCO3, KHCO3 and NaHCOs in increasing

order of solubilities.

° Watch Video Solution



https://dl.doubtnut.com/l/_o4vK65TFdfNg
https://dl.doubtnut.com/l/_o63mWRyhPA9z
https://dl.doubtnut.com/l/_pLqYGdgsmwUJ
https://dl.doubtnut.com/l/_b75evW9fPW7L

118. Why Be generally form covalent compounds?

o Watch Video Solution

119. Barium compounds are poisonous, even then BaSQOy is

used in barium meal.Why?

° Watch Video Solution

120. Which of the two cations Mg> ™ and A3 is smaller?

° Watch Video Solution

121. Why alkaline earth metal oxides are quite stable?

| o |


https://dl.doubtnut.com/l/_b75evW9fPW7L
https://dl.doubtnut.com/l/_8CxSQdDOmVnB
https://dl.doubtnut.com/l/_TNgnIgHqLWHB
https://dl.doubtnut.com/l/_QGWJm9GxS6Gs

[ W Watch Video Solution ]

122. Why does the solubility of alkaline earth metal

sulphates decrease on moving down the group?

° Watch Video Solution

123. Why does the solubility of alkaline earth metal

hydroxides in water increase down the group ?

o Watch Video Solution

124. When sodium is dissolved in liquid ammonia, a solution
of deep blue colour is obtained. The colour of the solution is

due to


https://dl.doubtnut.com/l/_QGWJm9GxS6Gs
https://dl.doubtnut.com/l/_OwmUQwXJvlfG
https://dl.doubtnut.com/l/_th4jmzOiHiTh
https://dl.doubtnut.com/l/_NlVbN6wFbjJj

° Watch Video Solution

125. Arrange alkaline earth metal flouides in order of

increasing solubility in water.

° Watch Video Solution

126. Arrange alkaline earth metal chlorides in order of

increasing solubility in water.

o Watch Video Solution

127. Compared with the alkaline earth metals, the alkali

metals exhibit

| = |


https://dl.doubtnut.com/l/_NlVbN6wFbjJj
https://dl.doubtnut.com/l/_0bHrtoWaxMzc
https://dl.doubtnut.com/l/_CheWcZWolfhc
https://dl.doubtnut.com/l/_BCnP7Z8K1BWk

| &J Watch Video Solution I

128. Arrange sulphates of group 2 in decreasing order of

solubility of water.

o Watch Video Solution

129. Arrange carbonates fo group 2 in increasing order of

thermal stability.

o Watch Video Solution

130. Arrange hydroxides of group 2 elements in order of

increasing basicity.
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https://dl.doubtnut.com/l/_BCnP7Z8K1BWk
https://dl.doubtnut.com/l/_mMVrDfmVrdWN
https://dl.doubtnut.com/l/_cLkHZW6v21c5
https://dl.doubtnut.com/l/_Sg1NNFb3oyfm
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131. Arrange Be, Mg, C'a, Sr and Ba in increasing order of

reactivity.

° Watch Video Solution

132. What kind of metals can form superoxides?

o Watch Video Solution

133. Name the alkali metal which can combine directly with

As, P, S and halogens.

° Watch Video Solution



https://dl.doubtnut.com/l/_Sg1NNFb3oyfm
https://dl.doubtnut.com/l/_8aujNg9NbdJH
https://dl.doubtnut.com/l/_83Jv0BLbsqB9
https://dl.doubtnut.com/l/_5oSruBPziDXz

134. Which among NayO,, LisO, K3sN and LisN is not

known?

° Watch Video Solution

135. Which among Na, K, Pb and L: has the lowest melting

point?

o Watch Video Solution

136. Name an element which is invariably bivalent and whose
oxide is soluble in excess of NaOH and its dipositive ion has

a noble gas core.

o Watch Video Solution



https://dl.doubtnut.com/l/_1pnkFdzl53kb
https://dl.doubtnut.com/l/_pnL2ZV3cWJGB
https://dl.doubtnut.com/l/_yK1GbzOdtgvT

137. List the raw materials required in the manufacture of

portland cement. What is the role of gypsum in it?

° Watch Video Solution

138. Arrange the following in order of the increasing

covalent character:

MCIl, MBr, MF, MI (where M = alkali metals)

° Watch Video Solution

139. Which alkali metal and alkaline earth metal are

radioactive? Give their atomic numbers also.

| o Watch Video Solution


https://dl.doubtnut.com/l/_yK1GbzOdtgvT
https://dl.doubtnut.com/l/_Nru8hVcOnljl
https://dl.doubtnut.com/l/_OJLFZUTfp1U9
https://dl.doubtnut.com/l/_Z0cXcF9QqoqM

140. Which alkali metal forms covalent compound?

o Watch Video Solution

141. Give one important ore of each of sodium and

megnesium.

° Watch Video Solution

142. Give chemical formula of dolomite and carnallite.

o Watch Video Solution



https://dl.doubtnut.com/l/_Z0cXcF9QqoqM
https://dl.doubtnut.com/l/_CxWFJqOSsdlX
https://dl.doubtnut.com/l/_FvwI4hC5084M
https://dl.doubtnut.com/l/_nmIHntVhPRnA

143. Why the elements of the second row (first short
period)? exhibit a number of differences in properties from

othero members of their respective families ?

o Watch Video Solution

144. Name one reagent or one operation to distinguish

between:

Be(OH), and Ba(OH),

o Watch Video Solution

145. Sodium cannot be obtained by the electrolysis of

aqueous solution of NaC'l using Pt electrodes.
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https://dl.doubtnut.com/l/_OJOFTIfg343h
https://dl.doubtnut.com/l/_NuXFBOHOfITd
https://dl.doubtnut.com/l/_tHkUCnZ4UadP

[ W Watch Video Solution ]

146. Dead burnt plaster is

° Watch Video Solution

Chapter 2 Multiple Correct Answer

1. Hydrogen bonding plays a central role in the following

phenomena .

A. Ice floats in water

B. Higher Lewis basicity of primary than tertiary amines

in aqueous solutions

C. Formic acid is more than acetic acid


https://dl.doubtnut.com/l/_tHkUCnZ4UadP
https://dl.doubtnut.com/l/_38wkETMmGwT6
https://dl.doubtnut.com/l/_NY9lKzIbFNXg

D. Dimerisation of acetic acid in benzene

Answer: A::B::D

o Watch Video Solution

2. When O, is adsorbed on a metallic surface electron
transfer occurs from the metal to Oy The TRUFE statement
(s) regarding this adsorption is (are) .

A. O, is physisorbed

B. heat is released

C. occupancy of my, of Oy is increased

D. bond length of O, is increased

Answer: A::B::C::D


https://dl.doubtnut.com/l/_NY9lKzIbFNXg
https://dl.doubtnut.com/l/_Wq92zkOtSHcB

° Watch Video Solution

Chapter 2 Single Correct Answer

1. Assuming 2s — 2p mixing is NOT operative, the

paramagnetic species among the following is .

A. BGQ

B. B,

C. O,

D. N,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Wq92zkOtSHcB
https://dl.doubtnut.com/l/_pqHz9NNMBDan

2. The intermolecular interaction that is dependent on the

inverse cube of distance between the moleculeis :

A. ion-ion interaction

B. ion-dipole interaction

C. London force

D. hydrogen bond

Answer: B

° Watch Video Solution

3. The ionic radii (in A) of N® ,0?" and F~ are

respectively :


https://dl.doubtnut.com/l/_PApci5VOYMhK
https://dl.doubtnut.com/l/_S86Fre42iLMp

A.1.36, 1.40 and 1.71

B.1.36, 1.71 and 1.40

C.1.71,1.40 and 1.36

D.1.71, 1.36 and 1.40

Answer: C

o Watch Video Solution

Chapter 2 Integer

1. Among the triatomic molecules/ions, BeCI,, N3@, N>O,

NOS, 03, SCIL, ICL?, I? and XeF, the total number of
linear miolecule (s) ion (s) where the hybridization of the

central atoms does not haave contribution from the d-


https://dl.doubtnut.com/l/_S86Fre42iLMp
https://dl.doubtnut.com/l/_exUVJ0ehOJMp

orbital (s) is .

[Atomic number S = 16, CI = 17, I = 53 and Xe = 54].

o Watch Video Solution

Chapter 3 Multiple Correct Answer

1. Hydrogen peroxide in its reaction with KIO, and

NH,OH respectively, is acting as a

A.reducing agent,oxidising agent

B. reducing agent, reducing agent

C. oxidising agent,oxidising agent

D. oxidising agent, reducing agent


https://dl.doubtnut.com/l/_exUVJ0ehOJMp
https://dl.doubtnut.com/l/_CQhZA5yCyjNM

Answer: A

° Watch Video Solution

Chapter 3 Single Correct Answer

1. From the following statements regarding H50,, choose

the incorrect statement :

A. It can act only as an oxidizing agent

B. It decomposes on exposure to light

C. It has to be stored in plastic or wax lined glass bottles

in dark

D. It has to be kept away from dust


https://dl.doubtnut.com/l/_CQhZA5yCyjNM
https://dl.doubtnut.com/l/_lzFAcinJjj5R

Answer: A

o Watch Video Solution

Chapter 4 Multiple Correct Answer

1. The pair(s) of reagents that yield paramagnetic species

is/are

A. Na and excuss of NH;

B. K and excess of O,

C. Cu and dilute HNO;

D. O, and 2-ethylanthraquinol

Answer: A::B::C



https://dl.doubtnut.com/l/_lzFAcinJjj5R
https://dl.doubtnut.com/l/_e4JZEShfmuJ0

‘ ° Watch Video Solution

Chapter 5 Single Correct Answer

1. Which one of the following alkaline earth metal sulphates

has its hydration enthalpy greater than its lattice enthalpy ?

A. CCLSO4

B. BeSO,

C. BCLSO4

D. S’I"SO4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_e4JZEShfmuJ0
https://dl.doubtnut.com/l/_nMiRspmgDEqo

Chapter 6 Multiple Correct Answer

1. The correct statement(s) for orthoboric acid is/are :

A. It behaves as a weak acid in water due to self-

ionization

B. Acidity of its aqueous solution increases upon

addition of ethylene glycol

C. It has a three-dimensional structure due to hydrogen

bonding.

D. It is a weak electrolyte in water

Answer: B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_26oIyChxplhj

Chapter 6 Single Correct Answer

1. In the correct of the Hall-Heroult process for the

extraction of Al, which of the following statements is false ?

A.CO and C'O, are produced in this process

B. Al,O5 is mixed with CaF, which lowers the melting

point of the mixture and brings conductivity

C. A3 is reduced at the cathode to form Al

D. Na3 AlF§g serves as the electrolyte

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_2OBB20tuBZxB

Chapter 6 Integer

1. Three moles of ByHg are completely reacted with
methanol. The number of moles of boron containing

products formed is

o Watch Video Solution

Chapter 7 Single Correct Answer

1. Under hydrolytic conditions, the compounds used for

preparation of linear polymer and for chain termination,

respectively, are

A. CH;SiCly and Si(CHj),


https://dl.doubtnut.com/l/_Y3hwMBImHrBQ
https://dl.doubtnut.com/l/_yZBfzEFn8ZXO

B. (CH3)2SZCZ2 and (CHg)SS’LCl
C. (CH3)2S’LCl2 and CHgS’LClg

D. SiCly and (CHj3),SiCl

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yZBfzEFn8ZXO

